ABEH -5

P

ME/ &% BR/ME BES R

DOG 2013781680 EH”

10Tl E , FIMARHARAE

Oid# wERk X/E

7RA11 8,92 5xEH
B H BRI
BT PR T KA KE
AR TR
W BT

SENE BRELRES

ESFZ IR SH 254, a5 g5 [
29746 300 1, HHRE LA A 40 1,
M, W TLAY 40 DNrhge e 16 Nk
BB GH, 2013 FE 520, 58
HHTHRR, A RS B R s DL BB SN
E GRS HEI A E R AR R
WES, MHESC = HE, 55 AIH
G, UL T 168, 4 118
R, LUR R3] -

(#5) Tom tried to push the
box, but it__B_ move.

A. couldn’t B. wouldn’t

C. shouldn’t D. mightn’t

(E & JHE @) The door ___C_
open, no matter how hard she
pushed.

A.shouldn’t B.couldn’t

C.wouldn’t D. mightn’t
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It was never clear ___
the man hadn't reported the ac-—
cident sooner.
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A. that B. how

C. when D. why
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60.The experiment described
in Paragraph 1 is related to the
baby’s__.

A. sense of hearing

B. sense of sight

C. sense of touch

D. sense of smell
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61.Babies are sensitive to

A.the size of cards

B. the colour of pictures

C.theshapeof patterns

D. the number of objects
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62. Why did the researchers
test the babies with drumbeats?

A.To reduce the difficulty of
the experiment.

B.To see how babies recog—
nize sounds.

CTo carry
further.

D.To keep the babied interest.
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63.Where does this text
probably come from?

A.Science fiction.

B.Children’s literature.

C.An advertisement.

D.A science report.

R BTG ? HERABI:
BRI/ LB T8 R R E.,
HEEZ A FRFIR 8 H HHY exper—
iment.test, researchers =/ERA]5L
RAEZIFED,

F3—1BE" KFEEM

do RARAE 5 5] o AR B AR |
I, T 5B &R I7 IRE AR 6 5 |
JU—FaE" B A Bi:13838833119 |
do B AR AR AT E B R HT
LB A IR S R
P, B & B E £ 15838523800

the experiment

-

T
B4 L ES=S
Ok ) #

ITH, 2013 SRR FEE
LR KRB S+ 55
FIEBRIEBIREIEZRIT, MR
#JLEIRH 14 ZiBsh A&kt
%, LR ELEEIE 20 MRS
£, SN HEUHE, LK 4 LEE
REFBATELLFE S T AR R
TR B,

Bl g,
heEpE L BN

Ok

12 F, FRIER T 4L A
HEsE k2647 T ERIBAL . 70 &N
AR B 24 LRSS it
BR , 7 R RS T B,
B, A TR T A —
AR, :

...........................................



